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��ల �టు ��ం� �ర� �క� సూ����, ��ల �టు తగ���� �రణభూత�న
ఇతరశకు�లనుం� తప�క �రు�� చూ�ల� మనం ఇంతకుముందు గు��ం�ము. ప����ం�,
సం�త �టు గణ�యం� �రగడం ��� �త�ల ����క �రుగుదల, ��ల �టు�
అటువం� (����క) �ణతకు ఒక ముఖ��న వనరు. �టు�బ� �ద� సం��� ఈ అం���
�ంత సు�ర�ం� (����) ప�����డు. అత�� ఎ��చూ�డు : ���( ప���క) ప���తుల� “...
సం�త���అక��తు�� �స��ంచబడుతుం�... ���కుల ��ండు సరఫ�ను �ం� ఉండవచు�,
అందువల� �త�లు �రగవచు�.” �� ఇ� ��ల �టు �ణతకు ����� అటువం� �ణత
����క దృ��షయ�తుం�. �భ�యకతకు ము�� వ��న �ంట� �టు�బ� �గుబడడం
మంద�సు�ం�. ఇం� ఎకు�వ�, అ�క�త�లను ఎదు��ంటున� �టు�బ��రుడు, �ం��కరణ
మ�యు ఇతర శ�మ త��ం� ప�క�లను ఆశ����డు. ఈ �ండు ప���లూ �త�లను
త��ంచ���, ��ల �టును �నరుద��ంచ��� ఉప�గపడ��. “�టు�బ��� ఉత���
ప���య �క� యం��ం�లు ����కం� సృ��ం�న �� అడ�ంకులను �ల����.
మూలధనం �క� ��య-�స�రణ అవస�లకు అనుగుణ�న ���� శ�మ ధర మ��
ప��తుం�.” �రు�� ఇక�డ �టు�బ��� ఉత�����నం�క� మూల సూత�ం �� �ర��
�క, స�ష�ం� స�ల��లం� వ�వహ�సు���డు. అత� చర� �క� �వం, ఈ ప���య (��ల
�టు�����క �ణత) ��య �దు��టు చ�� �క ��� త��తం� �సు�ం� అ� సూ�సు�న��.
�త�ల �రుగుదల� ము�ప� ఉన� ��ల �టు ��ంచడం ����శం� అ�క సం�త
(మూలధనం �గుబ�) �టు ��� �సుకువ��న స�ల���క ���ర చక�ం �క��రుగుదల
దశము�ం�ను ��య�సు�ం� �� �టు�బ��� ��నం �క� ఆ��క సం���� ఖ��తం�
����ధ�ం వ�ంచదు. మూలధనం �క� సహజ కూరు�� �రుగుదల �రణం� వ��న ��ల
�టు త���ర�, ���క ఉ��దకత �రుగుదల��� త�నంత� భ���ద������ �� �షయం.
ఉత���శకు�ల అ�వృ��� �టు�బ��� క�మం� ����కం� ఉన� ��ధ�క �రు����
అటువం� ��ం� �ర� వ�క�పరుసు�ం�.

��ల �టు ప��� �ర�� సూ�ం� ఈ సూత�ం ఎ� ప��సు�ం�? ��ల �టు
�క� “ఐ�క �ణత�” ��మం� ��� �వ�ం�రు. అం�, ��ల �టు ఒక ��త�క �లం�
క��� క�మం� మ�యు �రంతరం ��సు�ంద� �ప�డం. అటువం� �వరణ ఆ�రం�, త�నంత
�లం �టు మూలధనం� ��ల �టును ��ధ (��ంట� వద�) సంద��ల� ���ంచడం ���
ఈ సూ���� �రూ�ంచ��� �� ఖం�ంచ��� అనుభవ�ర�కం� ప�య��లు జ���. ఆ
సూత��వరణ �క� ����కతను �� ఇతర �ష�లను అటుం�, ���ర సంబంధ ��
నుం� ����సు��వనకు ఏ� �ంత దగ�ర� �త�ం ���క మూలధనం� సగటు ��లను
���ంచడం� ఉన� ప���లు �� ఉ���. ఈ�స�వం అటువం� ప�యత�ం� ఫ��లను ఆ
సూ���� రు�వ� మ� �ధం�� �ల��ంచడం� �� �గ�త�� ఉం�ల� సూ�సు�ం�.
అ�నప���, మ�ంత ముఖ�ం� ఆ ����నం కూ� ప���ర�కం� క��సు�న��. అ సూత�ం �
���� �క� చర�ను �గ�త�� అధ�యనం �����ల �టు ��ం� �ర� �య�త �లం�
సంభ�ం� ఆ��క సం��ల��� తనను �ను వ�క�పరుసు�ం�, మ�యు క�మం� �రగబడుతుం�.
ఈ ��ం� �ధం� సు�రు� �వ�ంచవచు�న� ఆ �త�ం తనకు �ను� సూ�సు�న��.

�ర���క �టు�బ��� �స�రణ ప���య �ంత �లం ��గ�� ఉం� �ం��కరణ ���
ఉ��దక శకు�లు �గం� అ�వృ���ందుతు���, అం� సహజ మూలధనం �క� కూరు�
�రుగుతున��. �త�మ�యు ‘ముమ�ర మూలధనం అవసరమ��’ ఈ ప���యకు అవసర�న
�టు�బడులను క�సం ఈ మూడు �ర�లవలన �టు�బ��రులు �డుతు��రు: (i) �టు�బ���
��� ఇ� అవసరం; (ii) ��రంభం� అ�కం� అందు�టు� ఉన� అదన� ���కుల సంఖ� క�మ



క�మం� త���వడం� �త�లు �రగడం ��రంభ�తుం�; (iii) అదన� �లువను గ��ం�
ప���తులు – అం� ఉత�����న సరకులను �� ఉత���ధరల వద��� �ం�ం దగ�ర�
అమ���� ప���తులు – అనుకూలం� ఉండడం, మ�యు అ�� �న�గుతుంద� �టు�బ���
వర�ం ��ంచడం. ��, �న ���న� శకు�ల �రణం� �టు�బ��రులు ���న �టు�బడులు
ముందు�� �� తరు�� ���కుల ఉ��దకత� సం�ర��రుగుదలను ఇవ��. తుదకు
�టు�బ��� ��నం� ��న �ం��క �రు�లు ���క ప��జన ప���క� ��న�
�దు,�� అస�న �టు�బ��రులు వ���గతం� �సుకున� �ర��లు. అందువలన, ���క
శ�మ �క� ఉ��దకత �త�ం �రుగుదల, �ం��క �రు�లను �సుకు�వ��� ఖరు� ��న
�టు�బడులకు �భ�యకం� ఉంటుంద� ఎటువం� �� �దు. ��� �రుద�ం�, �న ���న�
�ధం�, �ర���క �టు�బ��� �స�రణ దశ� ఉ��దకత �రుగుదల త�నంత� �� �రణం�
��రణం��భం �టు ప���సందర�ం ఒక� వసు�ం�.

ఈ ��ల �టు� �ణ� �త��టు�బడులు �వ��� త��ంచ���, మ�యు ఇప���
���న �టు�బడులకు �ంత నష�ం �వ��� ���సు�ం�. ���� ఎ��చూ�నటు� �టు�బ�
�రులమధ� �� �వ��తుం�:

“అ�� �� �గుతున�ంత�లం �టు�బ��� వర��దర�వ ����� �� ప��వం
చూ�తుం�... త��� ప�� �టు�బ��రుడూ తన �టు�బ� ప����� త�న �ష����ఉమ��
���� తన �� �ందు�డు. �� అ� ఇక� ��లు పంచుకు� ప��� �న��డు, న��లూ
పంచు�వల� వ��న��డు, ప�� ఒక�రూ తన �� న���� క����� త��ంచు����, మ�క��
������య��� ప�య����రు.”

ఈ ��దం ఎ� ప�ష��ంచడం జ��ం�? ��రణ �టు�బ��� ���ర ప���తులను
(అం� త�నంత ��ల �టును) ఎ� �నరుద��ం�రు? సం�భం ��రంభమవడం� ��రణ
���� �నరుద��ం� అ�క ప���లు జరుగు��: ఇ��డు ఉ��� ఉన� అ�క సంస�లు
మూతపడ��, త��� ���క మూలధనం� �ంత �గం ప��యడం ��సు�ం�.
����� మూలధనం �� �లువను ���తుం�, ��కం� అరుగుదల ���, �� ఎకు�వ�
ప� �కుం� ఉం� �భం ఇవ��� ���� ఉంటుం�. �టు�బ� ��క�న ఉత����ధనం ��
�టు�బ�, �వలం భ�ష�తు����లను �� రూపం (ఊ�ం�న ఉత����ద�న������టు)
��రణ ��ల �టు (అందువలన ఆ�ం�న �భం �టు) ప���� �� �లువ� �� �గం
���తుం�.

ధరలు త���వడం ��రంభమ�తుం�,మ�యు �� సంద��ల� అ��రణం�
త�����, త��� స�జం�� వసు��ల మూలధనం �లువ �త�ం� కూ� ��సు�ం�.
'వసు��ల ధర తగు�ముఖం పట�డం� ��ర మ�యు చ�మ� � ఉన� మూలధనం �క� మూల
�లువ ��సు�ం�. సం�భం ��రంభ�నందున ��రణ ధర సంబం�లకు భంగం క��, మూల
ధనం�క� �నరుత���ప���య��క�ం �సుకుంటుం� మ�యు ����సు�ం�. �రు �క��ం�
వసు��ల �క� ధరల �ణత �రణం� �టు�బ� ���న మూలధ��� ��� �ంద�క�తున�
�టు�బ��రులు, మునుప� ���� అ����� తమ �టు�బడులను స�ష�ం� ఉత���
�ధ�లు� ��� �ర��రు. ఇం� ��ధ ఉత����ధ�ల� ఇ��ఉన� �� ప�సు�త
మూలధనం కూ� �ద��త�ం� తన �లువను ���తుం�. �� మం� �టు�బ��రులు తమ
అ��లను ��� ���ంచ�క�వడం� వరస ���లు �టు�సుకుం��. రుణ వ�వస�కుప�
కూలుతుం�. ఇంత�, మూలధన �లువలు ��ంచడం మ�యు ��� అలలు ల��� మం�
���కులను ప�నుం� �ల�ంచ����� ����.

�ట��� �క� �కర ప��వం, మూలధన �ల�ల �క� �త�ం �లువ ప��వడం,
ఉత����ధ�లను (సం�భం �ంత �లం అమలు� ఉన� తరు�త) అత�వసరం� �ర�డం
మ�యు �త�లను త��ంచడం. ఈ �ధం� ��ల �టు �ంచబడుతుం�, సం���� �ర��
�����నరుద��ంచ బడుతుం�.

ప��వం� , “... ఉత���స�బ�త �టు�బ��� ప��తుల� ఉత����క� తదుప�
�స�రణకు �ద�ం �సు�ం�”.



ఈ �ధం� ఇ� స�ష�� (a) ��ల �టు త���ర�� �టు�బ��� సం��లకు మూలం�
���� చూ�డు (b) ��ల �టు �నరుద�రణకు మ�యు �నరుద��ం�న �టు�బ� �స�రణకు
సం��లను �ధ�లు����� చూ�డు.

*****



More on The Falling Rate of Profit
(From Chapter 13 of my book Marxian Political Economy (Tulika Pubishers))

We had noted last time that the law of the tendency for the rate of profit to
decline must be distinguished from other forces that may cause the rate of profit to
fall. In particular, a temporary rise in wages brought about by a sharp increase in the
rate of accumulation is one important source of such a (transitory) decline in the rate
of profit. Marx examines this case at some length in Volume I of Capital. He points
out that under certain conditions, ". . .the scale of accumulation may be suddenly
extended . ...the demand for labourers may exceed the supply, and, therefore, wages
may rise."' But while this may lead to a decline in the rate of profit, such a decline will
be a rather temporary phenomenon. For accumulation will slacken as soon as
profitability is seriously threatened. What is more, the capitalists facing higher wages,
will resort to mechanization and other labour-saving devices. Both these
developments serve to push wages down and restore the rate of profit. "The
mechanisms of the process of capitalist production removes the very obstacles that
it temporarily creates. The price of labour falls again to a level corresponding with
the needs of the self-expansion of capital."' Clearly Marx is here dealing with 'the
short run' and not with a fundamental law or tendencv of capitalist production. The
tenor of his discussion suggests that the process (of a temporary decline in the rate
of profit) is self correcting, and rather quickly at that. The decline in the profit rate
associated with a spurt in wages brought about by a momentarily high rate of
accumulation can spell the end of the upswing phase of a short term business cycle,
but certainly does not represent an economic crisis of capitalism. The tendency for
the rate of profit to decline, on account of the growth in the organic composition of
capital, not sufficiently compensated by the growth of labour productivity, is however,
an altogether different matter. Such a tendency to decline expresses a
fundamental contradiction inherent in the capitalist development of productive
forces.

How does this 'law' of the tendency for the rate of profit to fall operate? Many
have interpreted the law to mean a "secular decline" of' the rate of profit. That is to
say, the rate of profit would show a gradual and continuous decline over historical
time. On the basis of such an interpretation, attempts have been made to verify or to
'disprove' the law empirically  by computing rate of profit on capital at various points
in time over a sufficiently long period. Apart from the validity or other wise of such an
interpretation of the law, the pitfalls involved in computing from business data
something closely resembling the Marxian conception of the average rate of profit
on social capital as a whole are many. This fact in itself would suggest that one has
to be extremely wary of treating the results of such excercises as 'proof' or otherwise
of the law. More importantly, however, the interpretation itself seems questionable. A
careful reading of Marx's discussion of the law suggests rather that the tendency for
the rate of profit to decline expresses itself in and is in turn stemmed and reversed
through periodic economic crises. The picture that suggests itself may be roughly
outlined as follows.

When a process of long term capitalist expansion has been in progress for
some time, productive forces are developing rapidly, through re-mechanisation that
is, increasing organic composition of capital. The investments in new and rnore



"capital intensive" methods of production required for this process are made by
capitalists for at least three reasons: (i) Capitalist competition necessitates it; (ii)
With gradual depletion of the initially large reserve army of labour, wages begin to
rise, thus inducing capitalists to mechanise. (iii) The conditions of realization of
surplus value - that is of selling commodities produced at or around their prices of
production - are favourable, and are expected by the capitalist class to remain so.
But sooner or later, the investments that capitalists are compelled to make on
account of the above forces do not yield a commensurate increase in the
productivity of labour. After all, technological changes under capitalism are not
socially planned, but are the products of disparate individual decisions of the
capitalists. As such, there is no guarantee at all that the overall increase in
productivity of social labour will be such as to render the investments expended in
bringing about the technological changes profitable. On the contrary, as noted above,
there generally occurs a point in the phase of long-term capitalist expansion when
the rate of profit tends to drop due to an insufficient increase of productivity.

This very decline of the rate of profit would lead to reduction in fresh
investment and to some losses on already committed investments. The competition
among capitalists would intensify, as Marx points out:

“So long as things go well, competition effects an operating fraternity of the
capitalist class ... so that each shares in the common loot in proportion to the size of
his respective investment. But as soon as it no longer is a question of sharing profits,
but of sharing losses, everyone tries to reduce his own share to a minimum and to
shove it off upon another.”

How is this conflict settled, and how are conditions of 'normal' capitalist
operation (that is, an adequate rate of profit) restored? With the onset of a crisis, a
number of developments take place which restore normalcy: many existing
establishments close down, so that a certain part of social capital ceases to function
as such. The idle capital loses its value, partly through physical depreciation, but
largely through being rendered idle and hence not yielding profit. Capital which is not
physical means of production but is simply prospective in the form claims on profit
(promissory notes on expected production and so on ) loses a great deal of its value
as soon as the general rate of profit (and hence the expected rate of profit) declines. 

Prices begin to decline, and rather steeply in many instances, so that the value
of commodity capital in society as a whole also declines sharply. 'With declining
prices of commodities, the elements of fixed and circulating capital decline in value.
The disturbance of the normal price relations on account of the onset of crisis
interferes with and halts the process of reproduction of capital. Capitalists who are
unable to recover their invested capital because of the decline in prices of the
commodities that they sell obviously cannot reconvert their capital into means of
production on the same scale as before. Further, their existing capital, emhodied in
various means of production,  also lose a good deal of their value. As many
capitalists find themse1ves unable to repay their debts, a chain of bankruptcies
follows. The credit system collapses.   Meanwhile, the decline in capital values and
the wave of bankruptcies would lead to thousands and thousands of workers being
laid off. 



The net effect of all this would be to reduce the total value of capital stock, to
make urgent (after the crisis had been in operation for some time) the replacement
of means of production, and to reduce wages. The rate of profit would thus be raised
and even restored to its pre-crisis level. In effect," ...stagnation of production would
have prepared-within capitalistic limits-a subsequent expansion of production". 

It is thus quite clear that (a) Marx views the tendency for the rate of profit to
fall as a source of capitalist economic crises, and (b) He sees the crises themselves
as the means by which the profit rate is restored and renewed capitalist expansion is
made possible.

*****


